Bellwork Hon Alg 2 Friday, March 31, 2017

1. In the figure to the right, a circle is tangent to
the sides of equilateral A42C and the radius r
equals 5. What is the perimeter of A45C7

B
A. 153
B.30.f3
C. 30
D. 60
E. 60 fZ
r
A C
2. The perimeter of regular hexagon J is 3. If exactly two of the three integers i,j, and & are
12 times the perimeter of regular hexagon odd, which of the following must be odd?
K. If the perimeter of K= 15, what is the . (i+))k
lenght of one side of J? Il i+j+k
A. % M. i +k
B. 5 A. lll only
C. 10 B. I, 1l,and Ill
D. 20 C. land Il only
E. 30 D. land Il only
E. lonly

4. In the figure to the right, what is the
value of |g - k| ?

A 2
B. 41
C. 43
D. 84
E. 86
Note: figure not drawn to scale.
5. Let the function fbe defined 6. Which of the following could be the
by fix) = x—u. If 4) = -8, remainders when 3 consecutive integers
what is the value of f2u)? are each divided by 27
A. 2,01
B. 0,1,2
C. 0,1,0
D. 0,0,1
E. 0,0,0
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2. The perimeter of regular hexagon J is 3. If exactly two of the three integers i,j, and £ are
12 times the perimeter of regular hexagon odd, which of the following must be odd?
K. If the perimeter of K = 15, what is the I G+)k X conld e odd or even
lenght of one side of J? I i+j+k X 09D 4oddDteven = euven
A 2 Le M. +k wiwwst be odd
4 ne v\ YW f‘. 4
B. 5 sk T= l2di5) A. Il only
C. 10 =160 B [, 11, and 1lI
D. 20 ’ o~ C. land lll only
(€30 1 s de S:OF J D. Iand Il only
= 89 - 230 E. lonly _
Z Yq+h+x =180

4. In the figure to the right, what is the Y71 +g % =160
value of |g - k| ?

=Y47+9+X
':A.AZ yq +h H( J
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B. 41
C. 43 G +Hh = 4739
D. 84 -n ~h
E. 86 yq = 47 +3-h
: -y =M
2- =9 -"
Note: figure not drawn to scale.
5. Let the function fbe defined 6. Which of the following could be the
by fx) = x —u. If fl4) = -8, remainders when 3 consecutive integers
what is the value of f{2u)? are each divided by 2?
g 5 =S =2Y—y A. 2,01
flo="8 = 554 B. 0,12
=l ==Y C. 0,1,0
u=1) D. 0,0,1
L) =X—U E. 0,0,0
\/N
e s x-ln = FeI= ) = ) 1

Lisu\ — 24_iry = 12N



